
Prefer video instructions? 
View our video page!

Questions or concerns? 
Contact us directly!

1-855-843-7920
CustomerService@StandUpDeskStore.com

https://www.standupdeskstore.com/contact-us
https://www.standupdeskstore.com/assembly-videos



SPLIT TOP INSTRUCTIONS



PARTS PROVIDED

HARDWARE PROVIDED

TOOLS PROVIDED

          M4            M5

M8x20                              M6x15           M6x48            M6x63 
QTY: 18+1       QTY: 6+1        QTY: 7+1       QTY: 3+1       QTY: 4+1

QTY: 1                                QTY: 1                                    QTY: 2                                          QTY: 1                                       QTY: 1                                           QTY: 2                      QTY: 2

QTY: 1                                             QTY: 1                             QTY: 1                                     QTY: 1                                                     QTY: 1                                                QTY: 1                           

1 2 3 4 5

BA C D E F G

H J K L M N

PAGE 1/6



STEP 1 STEP 2

2 2 2

1 1 1

2 2 2

1 1 1

A

C

C

B

F

G

F

G

PAGE 2/6

 M5

1 2



STEP 3 STEP 4A
E

1 1

D

1

1 1
1

PAGE 3/6

 M5

1



STEP 4B STEP 5

H

4

4

1 1
1

1 1
1

PAGE 4/6

 M5

1 4

  M4



STEP 7

L

4

5
3

3

3
5

5

5

STEP 6ASTEP 6B

STEP 6C

J

K

PAGE 5/6

3 4 5

  M4



STEP 8 STEP 9

M

3
3

3
3

PAGE 6/6

3

  M4

N


